HEES T |#@ Rl $=1:500
I i B ® R IF
1
oA HEFER E f
B oW »
oo B il KER
S N [E—
e | TR R HRET =R ERE
E R W
A #
& 3 EEE]
C—[ -1w® -u-2-3@E
C—[ -1 @) E@EI Bk
C—|  s-20) B @Bk
— = 15EHE
a 15~ 655kt
Oorng| yv-7v9%
[rererres] Jov o HEE
[——= ] ETEZDE .
CTT| messT —
—e| S-FL-1
[ZZZZ4| 7RI7I g%
— —| mmiEs




BIL3
12531, 692

K

181m

L=

SHIEE TEXRH

2410010 400

&
B e
£
—H
¥ %
| g |EH|E
] HESE
& | =2 ﬂ
w| B |mle
= w= e | d
&=
NEHERE
1 == @
B [H|®[g= H

zds
g 0=/ 3|
PR
2 g
g
g
=
L+LON
9|
g
g
=
£
=2 i
=1k
m -
1
S
P
=3
=
*
103
=
S8
3
sy
=5
g
- 7=
OO 07K )
IO 0=k i f
gl g
g&
S
o
i ]
=E3
g
00N

B2
12534921

H

540. 000

535. 000

530. 000

520. 000

DL=

62 ¢, H 62 “PEGH6Z ves HLs8 8z

M 02 ‘EGHOE ¥ES H000 082

g\=
=
—\& M 120 ‘EGHO0 ¥ES H V86 692
s
H 18°sesf{16°55s Hooo osz
|
TR H 2 ceaoL s Hoil ssz

1 6L °€eGH69 €85 HoIL vve
M 08 "EEGH L €5 H 000 0¥Z

1 18 €ggH L €8s (He9l ‘Gee

H 8 °£EGH 18 888 H919 522

M 8 "£EGHES €S H000 022

M 16 "£€GH98 €5 H 000 002

I £6 €588 085 H62r 261

H 96 ¢e|]16°ce5 | fev6 081
I 96 £€5H26 se5 H000 081

I 66 '€EGH00 ves H95r 691

I 20 $EGH06 285 H000 091

.
haRB: H 61 veef] 000 051

M G yEGHCY 985 H000 0¥l

M 9% "GEGHEL 965 H 000 021

|
s H 59669 000511

1 28 GEGH V8 585 H 565 601

50 "9€GH20 985 H 000 001

=2 075,
T30 o5

N LE "9EGHSY 985 Hoer €8
M 0% "9EGH¥S 985 H000 08

o2 H 95 955 000 5t

)

2
22
—\&

TS N 10°9€GHE! 985 (000 09

H Fz6 ‘gegoo ses Hsvz 1

09 ¢ M £L "S85 000 05

M 95 "GEGH09 €5 H 000 OF

M 8€ "GEGH ¥ 965 H000 02

2% 'SE! H 22 SEGHee 65 H000 0

R ||+l &
m ||| 2
ellu|s|=|2|5

1581

910°01

1866

068 1

0ov ‘01

o017

168y

1v5°6

919

000 02

st

98y 11

£96°0
vbs 0L

95 6

000 02

000 02

0% 01

5656

085 ‘91

02y ¢
000 02

S92

vz L1

000 02

000 02

£5
2

001+
Lon|

9 On|

0G|
< on|

1dSHe
¥ ON}

0G|
€ on|

£ onf

001+
2 on|

seam

30,000
16 225

st 48 477

7
1

g7
IS

2 3751
R 500,000
s 01y

o297 Tl 1148

0 TL- 6 444 sl

-

I~
"1210.000

5
10.000~J2
=10 000

2
A 000

10,000

0,000

L

L=10.000
—

L=




Eﬁﬁ%l S/ I&ﬁ RI §=1:100
T m| #B®EIS
) e
mooR AT E =1/
=]
s il ZE
IR R RUAET
E R
B %
25 55
ik
Cit FrEVimE (L)
2R
Ciz FENEH ()
2Lt
Cis A — T UEE (1)
]
Cie 7+ — 7 UiRE (RE)
]
[ PR AR
il
B BEEL
ERE
El i (L8)
E2 R (BE)
Fu HEL  WI.0m
22
K1 REEE (L8)
K2 §E§I ()
L F O AEER (L8)
ZEREmEY
Liz FEREAEER (RE)
Lis A — 7 VRMIAEER (15)
Lis A — T URBEEER (RE)
W1 REHE (FRIFILN)
cditl]
W2 LEEHE CHEEERE)
W3 TR (BEDARE)
Ad FAI 7L bEEL
Bd 70y PR L
RES
He. ‘YU —+
Ke I E % ET
DL=530. 00

DL=530. 00

TR 100
O AOIEN GH) 3
SHLF LYK
T6 44 i =
EEMER s 5000 /
M OBRISOLTHE, RISk SHERTHY. BIMICH
RORRIZ & Y RBHIGET 5.
5
S-1
L AORAIEEER (£5) %
EmE ———
D=9.595
G A= TN () 8
NO. 5
GH=536. 02
FH=536. 051
i
-1
TR N -
g S Lo o — T BMATERY (1)
Gt — TR )
e
5
- $-1
o i TR
S g T
N ~
Liso — TV BMEEER (KE)
/2
| 500
R o i B [T %
1850% 1850 (382 t =Tcm) N
| 3 Al 3
U-1
B BEmE
L= W smME ¢t
Ad FZ2I7I)L EEREEL W2 b g t =7cm
coael luo L Lo SRR E R (£3) E |
1500 e
D=2.755 T8
BC. 1 Co HUEH (1B —
GH=536. 00
FH=535. 926
N2
$-1
o _ E|
N
N /

[ 25 KT
(3Rav. t=Tem)

g




mEES| 1y |~w§ R | §=1:100
I @ E B & R IE
Bl
W U !
= - 1/9 s
S W EER
THEH FETR BT ‘EIE ;
EORE W 2o
u
L1-1=7.0
C1-1=133.5 m|g
30 e
s
E273 L= -
]d m |8
y.]
n=47
L1-1=9.9
LR
30 el
4%
L= -
D=20. 000
NO. 1
Gl 5. 41
FH=535. 388 ¥ B R NO. 1
es]# 2 es[n =
Ci-1] 133.5 |L 11 18.8
Ci2| 42.3 |Li2 16.2
Ci3 Lis
C1-2=42.3 Ci4 Lia
B"E mz|s ¢ | o8 [w| 42
b ki B w2 | 42
18 5%KH El 0.6 | W3 4.2
$-2 (B) S-2(A) E2 0.8 Ad 2.8
[=9.00 1=12.50 Fu| 09 |Bd
K1 0.6 | He
.m_[s k2| 07 [Ke| 2.0
30 B
1=
L1-1=9.4
e
z.[2 i
[ o4
Li2=
ws|3
= B
[ A%
w18
: 5?]% 185K
DL=530. 00 S
- s
[T
D=20. 000
BP L1-1=5.6
GH=535. 22 in
FH=535. 220
W E B
Es|w & es|w &
Ci-i 6.1 fLi-1 6
Ci-2 6.4 |Li2 9
Ci3 Lis
Cis Lia
C 1.1 Wi 4.1
B W2 4.1
E1 0.6 | W3 4.1
E2 0.3 | Ad 2.7
Fu 0.5 | Bd
K1 0.6 He
K2 0.3 | K 2.0
DL=530. 00




BEES| S/ |ﬁ R| §=1:100
I B BB HRIE
] A |§ 2
= 2
B OR
an e ZER
THER FERR B SHAT
E R W
DL=530. 00
DL=530. 00

2/9

D=2.756

BC. 1

—
GH=536. 00
FH=535. 926

g,
1=17.20
U1
=68

D=17.245

NO. 2

a+535 60
FH=535. 560

$=1:100

C1-1=40.8

4
L,
L1=10.30

Li-1=1.3
S omfg
3513 =12
I i bt

ZHE ~
iz,

-~
—
ozl|e
=5
oy
1534k
520)
-—
T=10.50

S22
L2200

H B R BC. 1
es[w = fesn =
Ci-1 40.8 |Li1]| 23.4
Ci2 22.1 fLi2| 11.2
Cia Li-3
Ci-e Lia
C 0.9 W 4.5
B W2 4.5
El 0.6 | W3 45
E2 0.8 | Ad 2.9
Fu 0.9 |Bd
K1 0.6 | Ho
K2 0.7 | Ke 2.0
H B R NO. 2
es]# 2 ks[s =
Ci1 4.1 L 4.3
Ciz| 16.5 |Li2| 11.0
Cia Li-3
Cie Lia
C 0.9 |W 4.4
B W2 4.4
El W3 4.4
E2 0.8 | Ad 2.1
Fu 0.5 | Bd
K1 He
K2 0.7 | Ke 2.0




mEES| 0 |&s Rl §=1:100
I & B ¥R IE
& : 7
oAl HRFE =
B o8 .
M wH EER
THEFR FE IR BT
E R M
% B ® NO. 4
es|s 2 kS| 8
Ci-1 0.3 L 1.7
Cizo| 19.2 Lizf 10.5
Cis Lig
Cisa Lie

C 1.0 (W 4.0
B 0.1 | W2 4.1

El W3 4.2
E2 0.8 | Ad 2.9
Fu 0.5 |Bd
K1 He

DL=530. 00

W E No.3
[es]n & [es[u &
Ciof 71.9 L 26.4
Ciz| 244 [Liz]| 115

Ci3 Lig
Ci4 Li4
C 1.0 (W 4.6
B W2 4.6

El 0.6 | W 4.6
E2 0.8 | Ad 2.8

DL=530. 00

3/9 $=1:100

288k 15 %KB

E2-0.5 8

Fus0.3 gf

Ke=0.4 15|

Iz 2 g zofe @l

=14 2| & g 15
i [ K4 =% 0T

D=3. 420

GH=536. 54
FH=536. 401

00, 4000
500_1500_,_1500_500

2= 2
(ISR

) [

e=1.0
B=0.1
Wi=4.0
Wo=4.1
W=t 2
N Ad=2.9
NE) s s s <
= ] als 3 w48
2l sl Ils £|s #5s
£

D=20. 000

NO. 3

GH=536. 13
FH=536.016

e

C12=24.4

li

B g
[=2.60
ERION
2,80

L= -
o ts
e P
i S
L11=9.9
zte
R, e
S [y
S
5-2(8) 7
L1200 w&,
o

El=
G0 Li-1=7.4 Fu=0.2

1)

ST(A)
320

[




BEES| |/ |&s Rl §=1:100
I W HEHRIF
& 4

mos TR |§ 5
B O# .
M wH EER
THER EER T USAT

E R M

DL=530. 00

DL=530. 00

D=9. 595

NO.5

—
GH=536. 02
FH=536. 051

s 2 o
R o

< s E
T[E 4: 3
R

D=16. 580

SP_1
—

GH=536. 45
FH=536. 376

$=1:100

13512

C1-4=36.1

$1(8)
=17.60

[

—BE

16.80

=

Ko

—
L=16.90
—HE

L2,
L=17.20

R E2-0.5

Ki=0.3
C1-1=19.4

E27)

liend

W E N0.5
EEE eSS
Cioif 19.4 L 9.7
Ci2 Li2
Cirs| 51.2 fLisf 11.0
Cref| 361 [Lia]| 12.8
C 07 | W 4.0
B 0.2 | W 4.1
El 0.6 | W 4.2
E2 0.8 | Ad 2.7
Fu 0.9 Bd
K1 0.6 | He
K2 0.7 | Ke 2.0

% B % SP.1
[es]n = [es[n =
Ci-1 0.7 L 2.3
Ciz2f 15.8 |Li2f 10.2
Ci3 Li3
Cie Lis

[ 0.7 | W 4.0

B 0.2 | W 4.1
E1 W3 4.2
E2 0.8 | Ad 3.0
Fu 0.5 | Bd
K1 He
K2 0.7 | Ke 2.0




HEES anaﬁ Rl $=1:100 B PP ot
R | B %R IE
-2 (A)
F . m 18 %0kH
e s W LR o
$=1:100 Lo
TEEFR FE R HRAT s r
ik i
Eﬁﬂi L =86 L1-3= 0.0
a s zf<
b iz

—BE — —BA

Lis
[=12.20

D=20. 000

NO. 6
35.73
FH=535. 468

—BR

€1-4=20.6
501 4000 00, e

$00_1500_, 150050 S
N L=0.0

1-329.0
EET

==
—BB
$1(8)
1=10.40

1150% 509 Ke=2.0

k\‘
s, §
L=10.40 —
U-1(8)
L=10. 40

3

€1-6=29.05

— kL=
1=5.00

7,

D=10. 405 (N

EC.1

L=9.9

Cie =177

Fu=0.2

C1-2220.0 Li2=9.4

5

Ba
Ealoy
10.70

[E

s
DL=530.00 ]
hE




mEEs| Oy |ﬁ R| $=1:100

I # B ® RIS

LI R |§ v,
5

oM N

& e RER

THER IR

E E T-ﬁ D=9. 456
' NO.8

GH=533. 90
FH=534. 028

500_1500,

TIEg

DL=530. 00

£

zERs

15.00

i
=20.00

[E

=

D=20. 000

NO. 7

GH-=536. 42
FH=534. 539

500,500

6/9

DL=530. 00

E20.5

DL=530. 00

DL=530. 00

U1 8)
[E
—fe
[

AoELoi

AoELoi

1150

[E

0.50

D=11. 486

SP.2

GH=533. 91
FH=533. 965

LXLIL

kL}3
L=11.50

D=11. 487

BC.2

GH=534. 00
FH=533. 996

rss=

kL}3
=9.50

[

25 A

U1 8]
L1150

U-18)
=9.50

[E

Ko
9.50

LI

[E

Ko

L=11.50
—BE

C1-1=28.8

—&8
9.50

Liz

[E

—8&8

L,
L=9.50

S2(0
L=11.00

254kt

.
ki

fly
L=11.50

S ok e

860

ST

[E

3
1=1.50

Lii= -




rmﬁ%l Y., I&ﬁ RI B
T #| EmaxeIsw

s woa @ /6 w
e mE RER
IHE AR

E R W

U-1 (A) s=1:10 U-2 - U-3 s=1:10 S-1(A) B)EE/NERKEE  s=1:10
W) - RRBEHY (LBHEH) ﬂggz ;ﬁ;;;i ® (L8530
JL—F L& T-14
UZYEE =2 00m BEES S 1) — bt UZIE)%  L=2. 00m pi iES ) — 1200
5300+ o 00 200 300

el #tui A
BL. 0mIZIyFHTL—F o TET-14EF 3

/ ' / 7 a EDZI

18N/mm 2

q

5%%2
2

} S
P 10m 257 J 7o) _L
UL E 5L 1.3 B300-1200 L=2. 00m

i 3l Ro® 1 B B
AR RC-40 t=10cm | m? 5. 60 HEERE  RC-40
560 I BELZL 1:3 m? 0.11 L
S — ;i
sgsAUREE | PU3-B300-H300 | & 5.00 i B ow fus
avy -t 18N/mm 2 n? 1.30
E R Tl I 18.0
<v77ya-4] B300-H00 | & 5.00
gu-Fou8 [1-14-a/1.0m | 4 1.0
iy INE n? 3.4
U-2 -3
H %% 10m 24 - ) H K 10m s - Y
—— S——
i A 8% 2 57 % B i B .57 H B
RRBE RC-40 t=10om | m? 5. 60 ARRE RG-40 t=10cn | m? 5.60
U-1 (B) s=1:10 BELZIL 1:3 m? 0.11 BELSIL 1:3 m? 0.11 S-2(A) (B) i=EER/KEE $=1:10
sazamuzgg | PUs-8300-300 | & 5.00 sepsmuz @ | PU3-B300-H300 | & 5.00
. 1 s w
®) EBBELZL (REH) EYypay— prye= m 2.0 EPT— T 5 20.0 ®) -+ - (EREE
gu—Fo5% | T-14-8/1.0n | i 1.0
» 200 20 200 "
38 28 FURYENE  L=2. 00 iE ooy — &
~Ba00-] itk A B
BL. 10mIZ 7Y L—F 2 TET-146F % ERA
g’ gl 18N/mm 2
5%72E 5%F2E
B250-H175 L=2.00m
4 LR
E)LSJL 1:3 L] Ao ) B - o 10m 2= 1)
HELZL 1:3 m? 0.11 i 3 8now 240 # 2
360 iR ARUERE | PUS-B300-H300 | & 5.00 avyy—+ 18N/mm 2 m3 1.00
avyy— & PR - EEA | & 18.0 <»77ya-u] B00-H200 | & 5.00
JL—F o5& |T-14-5/1.0m | & 1.0 ETS INEY m2 4.00




E§%| Y I.ﬁ RI BR
B B EE

EXC]

S W ZEH
THE FERA AT
E R W

PVC 1000  s-1:10 FRAI7ILEEHE  s100

T IYEPN
JatvbRR VICONE # &
BZ-1000
<SHHHHH NN %
. -0-0-0-0-0-0-0-0-0-0
) #oH E 100m2:247: 4
W
# Al RN EXod &
BELSNL

BEFHEFZaY | t=den | n? 100.0

S )00 1 F54ha—b 3 | 2 120.0

w EE EsEMETaaL - HEBERE t=ton [ 2] 1000

o 280 o 54 b — b (PK3)  1.27/m 2 BEUARE t=t6en | m2| 10,0

980 L i1 2 B M-30 t=Tcm
Eﬁﬁﬁ Eﬁﬂilﬁﬁ RC-40 __t=16cm
HE % Tomsy H—FL—1 $=1:20
& i wE (GR—C—4E)
VICONE {1 & BZ-1000 4 &
BWELZ L (1:3) 0.234 m3
- - 9.800 m2
HBRE RC-40X (¥ C-40 m
£=100mm 1.470 m3
EEE ErE R
200 4000 4000 4000
k
2
I I I $114.3x4.5
E|
o EE
EIE] EEEE 1 | g
- KL= ®—c—4 | n | .




